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 Задание 1

 Переведите на русский язык следующие термины и выражения:

abacus – счеты

occurrence – явление, случай

to possess – владеть

worship – почитание, культ

tribal – племенной

welfare – благосостояние

to evolve – развиваться

solstice – солнцесостояние

edifice – постройка, сооружение

precursor – предшественник

to depict – изображать

establishment – устройство, учреждение

redundant – излишний

hexagon – шестиугольник

Ответьте на вопросы по-английски:

What counting mechanisms were used in the shamanistic tradition? – In the shamanistic tradition primitive counting mechanisms were used such as counting notches on sticks or marks on walls. 

When was the Stonehenge erected? – The Stonehenge was erected about 2800 B.C.
Why did the Chinese need an abacus? –  The Chinese were very involved in commerce with the Japanese, Indians, and Koreans and they needed a way to tally accounts and bills. Somehow, out of this need, the abacus was born.
What determined the value of each pebble? – The value assigned to each pebble (or bead, shell, or stick) was determined by its position.

Why relatively few beads were required to depict large numbers? – Relatively few beads were required because one pebble on the first line had the value of 1, one pebble on the second line had the value of 10, and a pebble on the third line had the value of 100.
Why did the Greeks often use several mathematicians to work on the same problem? – Several mathematicians worked on the same problem to ensure the correctness of the answer.
What modern devices still use the basic principle of the Pascal’s calculator? – The basic principle of the Pascal’s calculator is still used today in water meters and modern-day odometers. 

What were the disadvantages of his calculator? – The main disadvantages were that only Pascal himself could repair the device and that it cost more than the people it replaced.

What were other Pascal’s inventions? – Pascal invented the syringe and hydraulic press.
            Переведите на русский язык:

In order to correctly hold the ceremonies to ensure good harvest in the fall and fertility in the spring, the shamans needed to be able to count the days or to track the seasons.

Stonehenge, which lies 13km north of Salisbury, England, is believed to have been an ancient form of calendar designed to capture the light from the summer solstice in a specific fashion. 

The abacus is the first true precursor to the adding machines and computers which would follow.

 It could take weeks or months of labourious work by hand to verify the correctness of a proposed theorem.

The gear train supplied a mechanical answer equal to the answer that is obtained by using arithmetic.

Blaise Pascal (1623-1662) had a rather unorthodox childhood. Already the young Pascal was on equal footing with some of the great scientific minds of his day.

As a result of his forays into the realm of spirituality, he wrote many religious works.

Finally, his last work was on the cycloid, the curve traced by a point on the circumference of a rolling circle.


Чтобы должным образом проводить обряды, обеспечивающие хороший урожай осенью и плодородие весной, шаманам нужно было считать дни или отслеживать сезоны.

Полагают, что Стоунхендж, находящийся в 13 км к северу от Солсбери, Англия, был древней формой календаря, созданного, чтобы определенным образом улавливать солнечный свет во время летнего солнцестояния.

Счеты  – это фактически первый предшественник счетных машин и компьютеров, последовавших за ними.

На проверку правильности выдвинутой теоремы могло уйти несколько недель или месяцев трудоемких подсчетов вручную. При помощи зубчатого механизма можно было механически получить ответ равный ответу, полученному с помощью арифметических операций.

У Блеза Паскаля (1623-1662) было нетипичное детство. Уже в детстве он был на равных с некоторыми из великих научных умов своего времени.

В результате своих исканий в сфере духовности он написал много религиозных работ.

И, наконец, его последняя работа была посвящена циклоиде –  кривой, описываемой точкой, находящейся на контуре катящейся окружности.

Задание 2

Переведите на русский язык следующие термины и выражения.
decimal – десятичный, десятичная дробь

to execute – выполнять. осуществлять

punched card – перфорированная карта

binary – двойной, бинарный

to solve complex engineering equations – решать сложные проектные формулы

binary system – бинарная система

electric circuit – электрическая цепь

vacuum tube – вакуумная электронная лампа

subroutine – подпрограмма

random access memory (RAM) – оперативная память

hardware – аппаратное оборудование

data – данные 

computation – вычисление

tabulator – клавиша табуляции

multiplication – умножение

digital – цифровой

Переведите на русский язык.

It was also the first machine to work on the binary system, as opposed to the more familiar decimal system.

It was slow, requiring 3 to 5 seconds for a multiplication, but it was fully automatic and could complete long computations without human intervention.

The Turing machine was designed to perform logical operations and could read, write, or erase symbols written on squares of an infinite paper tape.

Turing's purpose was not to invent a computer, but rather to describe problems which are logically possible to solve.

ENIAC is generally acknowledged to be the first successful high-speed electronic digital computer (EDC) and was productively used from 1946 to 1955.

Typically, these computers were programmed directly in machine language, although by the mid-1950s progress had been made in several aspects of programming.


Это была также первая машина, работавшая на основе двоичной системы, в отличие от более привычной десятичной системы.

Она была медленной, ей требовалось от 3 до 5 секунд для совершения действия умножения, но она было полностью автоматической и могла совершать сложные вычисления без вмешательства человека.

Машина Тьюринга была разработана для выполнения логических операций и могла распознавать, записывать или удалять символы на квадратных ячейках бесконечной бумажной ленты.

Тьюринг не ставил себе целью изобрести компьютер, он стремился описать проблемы, которые можно решить логически.

ЭНИАК обычно признают первым успешным высокоскоростным электронным цифровым вычислителем (EDC), который продуктивно использовался с 1946 по 1955 год.

Обычно эти компьютеры были запрограммированы непосредственно на машинном языке, хотя к середине 1950-х годов были сделаны успехи по отдельным направлениям программирования.

Задание 3 

Переведите на русский язык следующие слова и словосочетания.

1. operating system – операционная система

2. integrated circuit – интегральная схема

3. workstation – автоматизированное рабочее место

4. spreadsheet application – приложение для обработки электронных таблиц

5. word processor – текстовый редактор

6. graphical user interface – графический интерфейс пользователя

Ответьте на вопросы по-английски.

1. What were the advantages of transistors compared to vacuum tubes? – Vacuum tubes were highly inefficient, required a great deal of space, and needed to be replaced often. Transistors didn't have any of these problems.  
2. What was the name of the first computer with the graphical user interface? – The first generation Macintosh was the first computer to come with a graphical user interface.
3. What does the term HTML stand for? – The term HTML stands for hypertext markup language.
4. What operating systems were mentioned in the text? –  Such operating systems as Apache for UNIX, Microsoft Information Interchange Server (IIS) for Windows/NT, and WebStar for the Macintosh were mentioned in the text.
5. What company produced the first microprocessor? – The first microprocessor was produced by Intel.
Какими вы представляете себе компьютеры будущего? Подумайте и изложите свои идеи в небольшом эссе (около 15 предложений).

Nowadays computers are used almost everywhere. It's impossible to imagine our life without computers, Internet, mobile phones with the Internet access and other computer devices. 

Future computers will be more oriented to the wishes and demands of people. They will even more user-friendly than now. For example, there will be more applications for disabled people. Such applications can help people operate their computers with voice or hand movement. Computers will operate robots which will help disabled people clean the house or cook food.

More computers will be used in business – at workplace and at production premises. They will help people with the most difficult computations. Computer-operated machines will be able to perform jobs of skilled and unskilled workers.

As for their design, it will also change and become more user-friendly. Computers will have more powerful batteries, will be resistant to water. It will be very difficult to break them because they will be made of special resistance materials. Future computers will be easily transformed into 3D theatres and it will be possible to watch films at home like we do in the cinemas.

A lot of applications can be predicted for future computers. It's true that they have become an integral part of our life. In the future we'll become more dependent on them.
Задание 4 

Ответьте на вопросы по-английски.

1. What are the advantages of ergonomic keyboards? – Ergonomic keyboards help to ensure correct posture while sitting in at the computer.
2. What additional keys do they have compared to the typewriters? – They have a numeric keypad.
3. What are the keyboards used for? – Keyboards are used for the input of text and characters, and also to control the operation of the computer.
4. What is the typical number of keys on a keyboard? – The number of keys on a keyboard generally varies from the standard 101 keys and 104-key Windows keyboards, to as many as 130 keys, with many programmable keys. 
5. What companies contributed to the development of the keyboard and the mouse? – Microsoft and Apple contributed  to the development of the keyboard and the mouse.
6. What is the difference between normal keyboards and ergonomic ones? –  They have difference in design. Ergonomic keyboards are specifically designed to prevent carpal tunnel syndrome and other repetitive strain injuries associated with typing for long periods of time. 
7. When was the mouse invented? – The mouse was invented in 1963.
8. What company produced the first cordless mouse? –  Logitech produced the first cordless mouse.
Переведите на русский язык.

1. Word processing, of course, relies on perhaps the most basic computer input device: the keyboard. – Обработка текстовых данных, конечно же, зависит от возможно самого распространенного компьютерного устройства ввода информации –  клавиатуры.

2. Laptops might also have vendor specific keys included in the keyboard. – На клавиатуре ноутбуков тех или иных производителей также могут быть добавлены определенные клавиши.

3. Increasingly, keyboard firmware is becoming more complex as manufacturers make their keyboards more sophisticated. – Прошивка клавиатуры становится все более сложной, поскольку производители выпускают более сложные модели  клавиатуры.

4. Most programmable functions are executed through a driver running on the PC. – Большинство запрограммированных функций выполняåтся с помощью драйвера, установленного на ПК.

5. Though ergonomically designed keyboards had existed before, prior to the introduction of the Microsoft Natural Keyboard, such devices were neither widely available nor reasonably priced. – Хотя эргономичные клавиатуры существовали и раньше, до появления Microsoft Natural Keyboard такие устройства не были широко доступными, и цена на них не была приемлемой.

6. Microsoft's original design has subsequently been refined, including the introduction of a row of customisable buttons above the function keys for launching applications or controlling play of music. – Оригинальный дизайн компании Microsoft впоследствии был усовершенствован, в том числе путем введения ряда настраиваемых кнопок, расположенных над функциональными клавишами, которые использовались для запуска приложений или управления воспроизведением музыки.

7. Microsoft's first PC-specific mouse, designed for use with the company's word processing application, appeared in 1982. – Первая мышь от компании Microsoft, предназначенная для работы с текстовым редактором, выпущенным компанией, появилась в 1982 году.

8. Serial mice use voltages of 12V and an asynchronous protocol from Microsoft comprised of three bytes per packet to report x and y movement plus button presses. – Мышь с последовательным интерфейсом использует напряжение 12В и асинхронный протокол от Microsoft с тремя байтами в пакете, чтобы передавать положение по îñям x и y и нажатие кнопок.

Переведите на английский язык.

1. Нажмите пробел дважды. – Press the spacebar twice.

2. Подключите эту мышку к компьютеру. – Connect the mouse to the computer.

3. Клавиатуры и мышки являются самыми распространенными устройствами ввода информации. – Keyboards and mice are the most basic input devices.

4. Наведите указатель мышки на иконку. – Put the coursor on the icon.

5. Какие типы мышек вы знаете? – What types of mice do you know?

6. Необходимо нажать на правую кнопку мышки. – It is necessary to click on the right mouse button.

7. Какая раскладка у вашей клавиатуры? – What kind of layout has you keyboard got? 

8. У твоей новой мышки есть колесо прокрутки? – Has your new mouse got a scroll wheel?

Задание 5 

Ответьте на вопросы по-английски.

What are the advantages of optical mice compared to the mechanical ones? –  Optical mice work on nearly any surface, such as wood, paper, and cloth.
What technologies can be used to connect cordless devices to the computer? – The first technology to be used to achieve this was infrared (IR). Radio transmission can also be used.
What makes 27 MHz frequency superior to the 900 MHz one? – 27MHz is a frequency not used by other common cordless devices in or around the computer. As a result, the risk of interference/jamming/cross-talk in a home or office is virtually non-existent with Logitech's 27MHz technology. Multiple concurrent device support is possible without "jamming" effect at low cost with 27MHz. 27MHz is an approved frequency available worldwide for use in cordless devices for the computer. 900MHz is available only in certain countries.
What power sources are used by cordless devices? – Cordless devices usually use AA alkaline cells or AAA cells. Some devices use rechargeable nickel metal-hydride (NiMH) batteries instead of replacement batteries.
What technology provides the best mouse sensitivity at the moment? – The laser technology present on the Logitech MX1000 Cordless Laser Mouse delivers a 20x increase in the sensitivity to the surface features used for navigation compared to conventional optical mice.
Переведите на русский язык.
1. As computing power grew cheaper, it became possible to embed more powerful special-purpose image processing chips in the mouse. – Ïîñêîëüêó стоимость âû÷èñëèòåëüíых ресурсов снизилась, ïîÿâèëàñü âîçìîæíîñòü óñòàíàâëèâàòü â ìûøü áîëåå ìîùíûå ñïåöèàëèçèðîâàííûå ÷èïû äëÿ îáðàáîòêè èçîáðàæåíèé.

2. This advance enabled the mouse to detect relative motion on a wide variety of surfaces, translating the movement of the mouse into the movement of the pointer, eliminating the need for a special mouse pad. – В результате этого усовершенствования мышь может обнаружить относительное движение на самых разнообразных поверхностях, преобразуя свое движение в движение курсора, при этом не нужен специальный коврик.
3. The mouse communicates with the receiver on the 27.045 MHz band whereas the keyboard works on the 27.145 MHz. – Мышь передает данные на частоте 27,045 МГц, тогда как клавиатура работает на  частоте 27.145 МГц.
4. Since an optical sensor consumes a significant amount of power in addition to the cordless technology itself, power consumption is a particular issue for cordless optical mice. – Так как оптический датчик потребляет значительное количество энергии в дополнение к энергии, потребляемой непосредственно беспроводной технологией, потребление энергии является главной проблемой беспроводной оптической мыши. 

Опишите мышку и клавиатуру, которыми вы пользуетесь или пользовались (тип, число клавиш, раскладка, марка, интерфейс, удобство работы и т.п.; около 12 предложений).
I use the mouse Gigabyte GM-M6880. It's a wired mouse. The mouse is big and convenient. It's made of plastic and it has rubber grips. The quality is very good and the mouse has ergonomic design so it fits very well for the hand. The mouse has a laser sensor and can be used for work and also for games. There are two additional buttons on the mouse which can be programmed according to the user's needs. I have a Logitech keyboard. It's very convenient. It has two small feet on the bottom, so its angle can be changed. The keys are soft and sensitive. The keyboard isn't ergonomic but it is designed very well. I can adjust the angle and type easily.
Задание 6 

#2.What does this abbreviation mean?

1.RIP –  raster image processor
2.PDL – page description language 
 3.OPC  –  organic photo-conducting cartridge
4.LED –  light-emitting diode
5.LCD – liquid crystal display
#3. Напишите ответы на вопросы на английском языке: 

1.What company did introduce the laser printer in 1984? –  The laser printer was introduced by Hewlett-Packard in 1984.
2.Why did laser printers become popular very quickly? – Laser printers quickly became popular due to the high quality of their print and their relatively low running costs.
3.What is inside the heart of the laser printer? – At the heart of the laser printer is a small rotating drum - the organic photo-conducting cartridge (OPC) - with a coating that allows it to hold an electrostatic charge.
4.Why laser printers are better than inkjet technology? – Laser printers produce much better quality black text documents than inkjets, and they tend to be designed more for the long haul - that is, they turn out more pages per month at a lower cost per page than inkjets.
5.What is the laser toner? – Toner is very fine black powder, positively charged so as to cause it to be attracted to the points of negative charge on the drum surface.
6.Why laser toner does contain the wax? – Wax is the ingredient in the toner which makes it more amenable to the fusion process, while it's the fusing rollers that cause the paper to emerge from a laser printer warm to the touch.
7.What is the difference between physical cleaning and electrical cleaning? – There are two forms of cleaning, physical and electrical. With the first, the toner which was not transferred to the paper is mechanically scraped off the drum and the waste toner collected in a bin. Electrical cleaning takes the form of covering the drum with an even electrical charge so the laser can write on it again. This is done by an electrical element called the corona wire.
 8.What is the principal disadvantage of LED technology? – The principal disadvantage of LED technology is that the horizontal resolution is absolutely fixed, and while some resolution enhancements can be applied, none of them will be as good as the possible resolution upgrades offered by true lasers. 
9.What is the difference between laser printing and LED technology? – The difference between the two technologies lies in the method of light distribution.
10.What combination of colors is used to produce the different printable colors in laser printing? –  Cyan, magenta and yellow in combination produce the different printable colours in laser printing. 
11.What is a native resolution for most modern laser printers? – Most modern laser printers have a native resolution of 600 or 1200dpi. 
12.What is the main advantage of color lasers? – Apart from their speed, one of the main advantages of colour lasers is the durability of their output - a function of the chemically inert toners that are fused onto the paper's surface rather than absorbed into it, as with most inkjets. This allows colour lasers to print well on a variety of media, without the problems of smudging and fading.
Задание 7 

#2.Mark the following statements as True or False: 

1.Hewlett-Packard (HP) claims to have invented the “bubble jet” technology. – False.  Canon claims to have invented what it terms "bubble jet" technology.
2.Inkjet printers are less expensive to maintain than laser printers. – False. Inkjet printers are more expensive to maintain than laser printers.
3.Inkjet printing, like laser printing, is a non-impact method. – True.
4.The most common type of inkjet technology is “drop on duim”?demand? (DOD). – True.
5.On ordinary inkjets, the print head takes about a second to print a strip across a page. – False. On ordinary inkjets, the print head takes about half a second to print a strip across a page. 
6.Most inkjets use thermal technology. – True.
7. Thermal technology method is a favored by Canon and Hewlett-Packard. – True.
 8.Thermal technology uses the type of ink that is heat resistant. – True.
9.Today's thermal inkjets have print heads containing between 300 and 700 nozzles in total. – False. Today's thermal inkjets have print heads containing between 300 and 600 nozzles in total. 
10. Epson's proprietary inkjet technology uses a piezo crystal at the front of the ink reservoir. – False. Epson's proprietary inkjet technology uses a piezo crystal at the back of the ink reservoir.
